Math 141 Section 2.6
Input-output (Consumption) Matrix Example

Suppose consumption matrix is A = [02 ﬂ sothat (| —A) ' = 1222 1223]
Produced Consumed
[ 10 ] (0 .477107 _ 4]
110 | .2 111101 13
[ 20 ] (0 .47720] _[8]
L 20 | .2 .11120] 16!
[ 10 ] (0 .4]7107 _ 8]
L 20 | .2 111201 14
[ 20 ] (0 .47720] _ [4]
110 | .2 .1l1110) L5
[ 60 ] 0 .4“60‘:‘4]
110 | .2 .1/110] 113
[ 11 ] 0 .4"11‘='4]
L 10 | .2 .1lt101 13.2
[1] 0 .4 '1] [ 0
0 L2 1110 L, 2
10] 0 .4"10]='4.4]
11 L2 .1ll11 1 3.1
[O] 0 .4"0] '.4]
1 L2 .1l11 .1
Demand Amount to produce Consumed Remaining
[10 (1.098 .4887110] _ [15.854] [0 .4][15.854] _ [5.854 (107
10 L .244 1.2201110] 114.634] .2 .11114.634. 4.634 110
1207 (1.098 .4887[20] _ [31.707] (0 .4][31.707] _ [11.707] (207
120 [ .244 1.22011201 129.268! .2 .11129.268! 9.268 | 1201
1207 (1.098 .4887[207] _ [26.829] [0 .4][26.829] _ [6.829] (207
110 [ .244 1.2201110] 117.073] .2 .11117.073. 7.073] 110
(107 (1.098  .4887[107] _ [20.732] [0 .4][20.732] _ [10.732] (107
120 [ .244 1.2201120] 126.829] .2 .11126.829. 6.829 1201
1607 (1.098 .4887[60] _ [70.732] [0 .4][70.732] _ [10.732] [60]
110 [ .244 1.2201110] 126.829] .2 .11126.829. 6.829 110
(117 (1.098 .4887[11] _ [16.951] [0 .4][16.951] _ 5.951] (117
10 L .244 1.220/110] 114.878! .2 .11114.878. 4.878 10
[1] 1.098 .488] [1] _ [1.098; [0 .4 [1.098] _ [0.098 [1]
0 L .244 1.2201 10 0.244] .2 .11 10.244 0.244 0
[10 1.098 .488] [10] _ [16. 341 [0 .4]116.341] _ 6.341] 10]
11 L .244 1.220/111 15.854 .2 .11115.854 4.854 11
[0] 1.098 .488] [0] _ [0.488; [0 .4 [0.488 _ [0.488 [O]
1 L .244 1.2201 11 1.220. .2 .11 11.220 0.220 1




